xo gt oFHA P(x) S x - 22 Ui U7} 50|10, 11 B-& A
x+ 322 Uie UHA7F 3L o, xP(x) € x4+ 322 Ue YHAE
T-ohol et

=
| — ]

| 2
> el 30

()
&
+
ot
2
|
=
+
&
‘.9
+
w
£
O
il

Wb wP(x) S x4+ 308 e e
= -3 x (-10) = 30

U2 2ol &8 9(-3) =

P(x) = (x=2)Q(x) + 514 FHoll x& FotdH

xP(x) = x(x —2)Q(x) + 5x--- D

yUm 212 el oJa xP(x) € x + 32 Uie UM A| = -3P(-3)
ojt.

O] gl x = -3 thdstdA

-3P(- )= (=5)Q(=3) - 15

0(-3) = 3= st -3P(-3) = 30




T O f(x), glx)oll dist f(x) +g(x) E x> +x+1 22 YFH
U279, f(x) - g(x) & x* + x+ 1 2 UFH Y x]7} -3 ot}
ol o, f(x) & x* + x + 1 B UE YA S F3toi=t

» £
> =g 3

B

) +gx) =2 +x+1)01(x) +9 -+ @)
fx)—g(x) = (2 +x+1)Q2(x) =3 ------ O
@+ O©= 54

2f(x) = (® + x+ 1) {Q1(x) + Q2(x)} +6
F) = (2 4 x4 1) 2D+ 4

2
LA 3




3. nol AATE o, xo] FA ¥(x% +ax+b)E (x-3)2 22 YRS
o] 2|7} 3% (x - 3) o] E W, a 4 b 2] FH2?

® -1 (Dl ® -2 @ 2 ® 3

~&B

X' (x% +ax+b) = (x-3)2Q0(x) +3"(x-3)---®
x=32 YA 3"(9+3a+b) =0

L b=-3a-9---Q

@F ©qf Hdstd

X'(x% +ax-3a-9) = (x-3)2Q(x) + 3"(x - 3)

(=) (x+a+3)) = (x = 3){(x - 3)Q(x) + 37}
PG x-302 e HS Lo}
X(x+a+3)=(x-3)0(x) + 3"

x=3S HYSIA 3"(6 +a) =3" .. 6+a= a=-5

@A b=6
La=-5b=6 .. a+b=1




T HFA f(x),g(x) ol HSFA 2f(x) - g(x) & ** + 12 U WA
R(x)E g(x) B 2 + 12 He Ut z|et 2k f(x) 8 22+ 12 He
YU 2]7F 2x + 4 Y o, R(10) o] 34 Fotoiet,

2f(x) - g(x) = (x* + 1)A(x) + R(x)
g(x) = (x> + 1)B(x) + R(x) 2t = = ATt
A 2£(x) = g(x) + (¢ + DA(x) + R(x)

8(x
(x+1)()+() (¥* + 1)A(x) + R(x)
= (x? 4+ 1) {A(x) + B(x)} + 2R(x)

Z f(x) = (x2+1) i{Ax + B(x)} + R(x)
R(x) = 2x +4°]1 R(10) = 24




